Election of Proctors in Convocation

Reusing random seed.

Guarding ATHERSTONE, The Revd Dr Andrew Castell

Guarding BENNET, The Revd Canon Mark David

Guarding MAWDESLEY, The Revd Joy Maria

Guarding MEIKLE, The Revd Ross Alexander Guarding MOODEY, The Revd Jeremy Michael

Guarding PEARSON-GEE, The Revd William Oliver Clinton

Guarding PLUMB, The Revd Canon Valerie Isabelle Dawn Frances

Guarding ROBERTS, The Revd Canon Vaughan Edward

Guarding WRIGHT, The Revd Canon Toby Christopher

Stage 1

Quota = 46.73

WRIGHT, The Revd Canon Toby Christopher ELECTED

With 95.00 over quota 46.73

ROBERTS, The Revd Canon Vaughan Edward ELECTED

With 71.00 over quota 46.73

PLUMB, The Revd Canon Valerie Isabelle Dawn Frances ELECTED

With 57.00 over quota 46.73

No candidates can be excluded, so we transfer the largest surplus

Surplus of WRIGHT, The Revd Canon Toby Christopher

10 papers non transferable.

85.00 transferred

This is more than the surplus of 48.27

So ballot papers given a new value of 0.56

Transfer from WRIGHT, The Revd Canon Toby Christopher: 85 at 0.56 = 47.60

Transfer to ATHERSTONE, The Revd Dr Andrew Castell: 1 at 0.56 = 0.56

Transfer to BENNET, The Revd Canon Mark David: 17 at 0.56 = 9.52

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 11 at 0.56 = 6.16

Transfer to GROVES, The Revd Canon Dr Philip Neil: 15 at 0.56 = 8.40

Transfer to MAWDESLEY, The Revd Joy Maria: 2 at 0.56 = 1.12 Transfer to MEIKLE, The Revd Ross Alexander: 20 at 0.56 = 11.20

Transfer to MOODEY, The Revd Jeremy Michael: 6 at 0.56 = 3.36

Transfer to PEARSON-GEE, The Revd William Oliver Clinton: 1 at 0.56 = 0.56

Transfer to PELLEREAU, The Revd Kate Louise Elizabeth: 3 at 0.56 = 1.68

Transfer to SIMPSON, The Revd John Verrent: 4 at 0.56 = 2.24

Transfer to WENZEL, The Revd Andreas: 5 at 0.56 = 2.80

No candidates can be excluded, so we transfer the largest surplus

Surplus of ROBERTS, The Revd Canon Vaughan Edward

1 papers non transferable.

70.00 transferred

This is more than the surplus of 24.27

So ballot papers given a new value of 0.34

Transfer from ROBERTS, The Revd Canon Vaughan Edward: 70 at 0.34 = 23.80

Transfer to ATHERSTONE, The Revd Dr Andrew Castell: 36 at 0.34 = 12.24

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 1 at 0.34 = 0.34

Transfer to KUHRT, The Revd Martin: 7 at 0.34 = 2.38

Transfer to MAWDESLEY, The Revd Joy Maria: 3 at 0.34 = 1.02

Transfer to MOODEY, The Revd Jeremy Michael: 2 at 0.34 = 0.68

Transfer to PEARSON-GEE, The Revd William Oliver Clinton: 16 at 0.34 = 5.44

Transfer to PELLEREAU, The Revd Kate Louise Elizabeth: 4 at 0.34 = 1.36

Transfer to WENZEL, The Revd Andreas: 1 at 0.34 = 0.34

ATHERSTONE, The Revd Dr Andrew Castell ELECTED

With 57.80 over quota 46.73

No candidates can be excluded, so we transfer the largest surplus Surplus of ATHERSTONE, The Revd Dr Andrew Castell

2 papers non transferable.

34.00 transferred

This is more than the surplus of 11.07

So ballot papers given a new value of 0.32

Transfer from ATHERSTONE, The Revd Dr Andrew Castell: 34 at 0.32 = 10.88

Transfer to KUHRT, The Revd Martin: 5 at 0.32 = 1.60

Transfer to MAWDESLEY, The Revd Joy Maria: 1 at 0.32 = 0.32

Transfer to MOODEY, The Revd Jeremy Michael: 2 at 0.32 = 0.64

Transfer to PEARSON-GEE, The Revd William Oliver Clinton: 19 at 0.32 = 6.08

Transfer to PELLEREAU, The Revd Kate Louise Elizabeth: 7 at 0.32 = 2.24

Stage 5

No candidates can be excluded, so we transfer the largest surplus

Surplus of PLUMB, The Revd Canon Valerie Isabelle Dawn Frances

8 papers non transferable.

49.00 transferred

This is more than the surplus of 10.27

So ballot papers given a new value of 0.20

Transfer from PLUMB, The Revd Canon Valerie Isabelle Dawn Frances: 49 at 0.20 = 9.80

Transfer to BENNET. The Revd Canon Mark David: 10 at 0.20 = 2.00

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 3 at 0.20 = 0.60

Transfer to GROVES, The Revd Canon Dr Philip Neil: 11 at 0.20 = 2.20

Transfer to KUHRT, The Revd Martin: 1 at 0.20 = 0.20

Transfer to MAWDESLEY. The Revd Joy Maria: 6 at 0.20 = 1.20

Transfer to MEIKLE, The Revd Ross Alexander: 12 at 0.20 = 2.40

Transfer to MOODEY, The Revd Jeremy Michael: 1 at 0.20 = 0.20

Transfer to PELLEREAU, The Revd Kate Louise Elizabeth: 2 at 0.20 = 0.40

Transfer to SIMPSON, The Revd John Verrent: 3 at 0.20 = 0.60

Stage 6

Excluding SIMPSON, The Revd John Verrent

Transferring papers worth 1.00

Transfer from SIMPSON, The Revd John Verrent: 8 at 1.00 = 8.00

Transfer to GROVES, The Revd Canon Dr Philip Neil: 2 at 1.00 = 2.00

Transfer to MEIKLE, The Revd Ross Alexander: 3 at 1.00 = 3.00

Transfer to PEARSON-GEE, The Revd William Oliver Clinton: 1 at 1.00 = 1.00

Transfer to Non-transferable: 2 at 1.00 = 2.00

MEIKLE, The Revd Ross Alexander ELECTED

With 47.60 over quota 46.73

Transferring papers worth 0.56

Transfer from SIMPSON, The Revd John Verrent: 4 at 0.56 = 2.24

Transfer to BENNET, The Revd Canon Mark David: 1 at 0.56 = 0.56

Transfer to GROVES, The Revd Canon Dr Philip Neil: 1 at 0.56 = 0.56 Transfer to MOODEY, The Revd Jeremy Michael: 2 at 0.56 = 1.12

Transferring papers worth 0.20

Transfer from SIMPSON, The Revd John Verrent: 3 at 0.20 = 0.60

Transfer to MAWDESLEY, The Revd Joy Maria: 1 at 0.20 = 0.20

Transfer to Non-transferable: 2 at 0.20 = 0.40

Stage 7

Excluding WENZEL, The Revd Andreas

Transferring papers worth 1.00

Transfer from WENZEL, The Revd Andreas: 15 at 1.00 = 15.00

Transfer to BENNET, The Revd Canon Mark David: 1 at 1.00 = 1.00

Transfer to GROVES, The Revd Canon Dr Philip Neil: 1 at 1.00 = 1.00

Transfer to KUHRT, The Revd Martin: 4 at 1.00 = 4.00

Transfer to MAWDESLEY, The Revd Joy Maria: 1 at 1.00 = 1.00

Transfer to MOODEY, The Revd Jeremy Michael: 4 at 1.00 = 4.00

Transfer to PEARSON-GEE, The Revd William Oliver Clinton: 1 at 1.00 = 1.00

Transfer to Non-transferable: 3 at 1.00 = 3.00

Transferring papers worth 0.56

Transfer from WENZEL, The Revd Andreas: 5 at 0.56 = 2.80

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 1 at 0.56 = 0.56 Transfer to MOODEY, The Revd Jeremy Michael: 1 at 0.56 = 0.56

Transfer to Non-transferable: 3 at 0.56 = 1.68

Transferring papers worth 0.34

Transfer from WENZEL, The Revd Andreas: 1 at 0.34 = 0.34

Transfer to Non-transferable: 1 at 0.34 = 0.34

Stage 8

No candidates can be excluded, so we transfer the largest surplus Surplus of MEIKLE, The Revd Ross Alexander

3.00 transferred

This is more than the surplus of 0.87

So ballot papers given a new value of 0.29

Transfer from MEIKLE, The Revd Ross Alexander: 3 at 0.29 = 0.87 Transfer to BENNET, The Revd Canon Mark David: 1 at 0.29 = 0.29 Transfer to GROVES, The Revd Canon Dr Philip Neil: 2 at 0.29 = 0.58

Stage 9

Excluding KUHRT, The Revd Martin

Transferring papers worth 1.00

Transfer from KUHRT, The Revd Martin: 21 at 1.00 = 21.00

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 1 at 1.00 = 1.00

Transfer to MAWDESLEY, The Revd Joy Maria: 1 at 1.00 = 1.00

Transfer to MOODEY, The Revd Jeremy Michael: 2 at 1.00 = 2.00

Transfer to PEARSON-GEE, The Revd William Oliver Clinton: 13 at 1.00 = 13.00

Transfer to PELLEREAU. The Revd Kate Louise Elizabeth: 3 at 1.00 = 3.00

Transfer to Non-transferable: 1 at 1.00 = 1.00

PEARSON-GEE, The Revd William Oliver Clinton ELECTED

With 52.08 over quota 46.73

Transferring papers worth 0.34

Transfer from KUHRT, The Revd Martin: 7 at 0.34 = 2.38

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 1 at 0.34 = 0.34

Transfer to MAWDESLEY, The Revd Joy Maria: 3 at 0.34 = 1.02

Transfer to MOODEY, The Revd Jeremy Michael: 3 at 0.34 = 1.02

Transferring papers worth 0.32

Transfer from KUHRT, The Revd Martin: 5 at 0.32 = 1.60

Transfer to MAWDESLEY, The Revd Joy Maria: 2 at 0.32 = 0.64

Transfer to MOODEY, The Revd Jeremy Michael: 2 at 0.32 = 0.64

Transfer to Non-transferable: 1 at 0.32 = 0.32

Transferring papers worth 0.20

Transfer from KUHRT, The Revd Martin: 1 at 0.20 = 0.20

Transfer to Non-transferable: 1 at 0.20 = 0.20

No candidates can be excluded, so we transfer the largest surplus Surplus of PEARSON-GEE, The Revd William Oliver Clinton

3 papers non transferable.

10.00 transferred

This is more than the surplus of 5.35

So ballot papers given a new value of 0.53

Transfer from PEARSON-GEE, The Revd William Oliver Clinton: 10 at 0.53 = 5.30

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 1 at 0.53 = 0.53

Transfer to MAWDESLEY, The Revd Joy Maria: 2 at 0.53 = 1.06 Transfer to MOODEY, The Revd Jeremy Michael: 4 at 0.53 = 2.12

Transfer to PELLEREAU, The Revd Kate Louise Elizabeth: 3 at 0.53 = 1.59

MOODEY, The Revd Jeremy Michael ELECTED

With 48.34 over quota 46.73

Stage 11

Excluding GROVES, The Revd Canon Dr Philip Neil

Transferring papers worth 1.00

Transfer from GROVES, The Revd Canon Dr Philip Neil: 14 at 1.00 = 14.00

Transfer to BENNET, The Revd Canon Mark David: 7 at 1.00 = 7.00

Transfer to MAWDESLEY, The Revd Joy Maria: 1 at 1.00 = 1.00

Transfer to PELLEREAU, The Revd Kate Louise Elizabeth: 1 at 1.00 = 1.00

Transfer to Non-transferable: 5 at 1.00 = 5.00

BENNET, The Revd Canon Mark David ELECTED

With 53.37 over quota 46.73

Transferring papers worth 0.56

Transfer from GROVES, The Revd Canon Dr Philip Neil: 16 at 0.56 = 8.96

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 3 at 0.56 = 1.68

Transfer to MAWDESLEY, The Revd Joy Maria: 1 at 0.56 = 0.56

Transfer to Non-transferable: 12 at 0.56 = 6.72

Transferring papers worth 0.29

Transfer from GROVES, The Revd Canon Dr Philip Neil: 2 at 0.29 = 0.58

Transfer to MAWDESLEY, The Revd Joy Maria: 1 at 0.29 = 0.29

Transfer to Non-transferable: 1 at 0.29 = 0.29

Transferring papers worth 0.20

Transfer from GROVES, The Revd Canon Dr Philip Neil: 11 at 0.20 = 2.20

Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 1 at 0.20 = 0.20

Transfer to MAWDESLEY, The Revd Joy Maria: 2 at 0.20 = 0.40

Transfer to Non-transferable: 8 at 0.20 = 1.60

Stage 12

No candidates can be excluded, so we transfer the largest surplus Surplus of BENNET, The Revd Canon Mark David

4 papers non transferable.

3.00 transferred

This is less than the surplus of 6.64

So ballot papers retain current value of 1.00

Transfer from BENNET, The Revd Canon Mark David: 3 at 1.00 = 3.00
Transfer to CHAFFEY, The Ven Jonathan Paul Michael: 1 at 1.00 = 1.00

Transfer to PELLEREAU, The Revd Kate Louise Elizabeth: 2 at 1.00 = 2.00

Stage 13

Formally excluding PELLEREAU, The Revd Kate Louise Elizabeth

CHAFFEY, The Ven Jonathan Paul Michael ELECTED

With 41.41

MAWDESLEY, The Revd Joy Maria formally elected.

Finished